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Warm Up

What is the missing number?

o8



Warm Up

What is the missing number?

S

30

40

8

24

AR



POP — UP #1

1) f(x) is a linear function represented by the given
table of values; which of the following choices
represents f(x)?

A) f(x) = -5x +1 —

o) 1
B) f(x) = 2x -3 ] -4

2 1
C) f(x) = x?

3 -14

D) f(x) = 5 10 49



POP — UP #2

2) Fill in the blank,

729,243, 81, , 9,3, ...

A) 36
B) 27
C)15

D) there is no pattern



POP — UP #3

For the linear functiony = -4x - 1;if x =0 ,theny =2¢

A) 5

B) -1

C) -5

D) can’t be found



POP — UP #4

4) Fill in the blank,

76,61, 46, , 16,1, ...

A) 29
B) 36
C) 31

D) No pattern



POP — UP #5

5) For the linear function y = 2 x -1, for each one unit increase in x the y-value is increased by 2.

A) True
B) False



Review — Patterns & Functions

A piano has 52 white keys. When you strike a key, the key’s string vibrates. The frequency is the number
of vibrations per second the key's strings makes. Below is a diagram of a keyboard, showing the frequency
for different keys. What pattern do you notice?

AB

C|DIE

FG‘AB

C‘DEFGABCDEFGAB

C|D|E

o

C|D|E

FGAB

C}DEFG

27.5

55

110 220

440

880



Exploring Rate of Change

The table below shows the cost for renting a piece of equipment.

change in cost
change in # of days

rate of change =

What is the rate of change between 1 and 2 days?

What is the rate of change between 2 and 5 days?

# of

Days

1

Rental
Charge

$60

$75

$90

$105

O(NMN|[wWw](D

$120




Exploring Rate of Change

The diagram at the right shows the side view of a ski lift.

1. What is the vertical change from:
- AtoB?
« BtoC?
« CtoD?

2. What is the horizontal change from:
- AtoB?
« BtoC?
« CtoD?

3. Find the ratio of the vertical change to the horizontal
change for each section of the ski lift. Which section
IS the steepest?

Vertical Position (feet)

100 4*% 4 C _/.2_
o A4
oA 5,
w | 3T,
Eﬂ/\\"'/ —

Horizontal Position (feet)



Exploring Rate of Change

¥ WATER LEVEL

The graph tracks the water level in a storage tank. A N STORAGE TANK

14
1. What s the rate of change between 2 to 7 hours? 13
12
= 11
-E 1]
-
- B
2. What is the rate of change between 4 to 6 hours? E :
a5
- 3
3. What is the water level at O hours? J e

1 23 456 7 8 91011121314
Time (in hours)
4. Could you write a linear equation, given the information
you have? If so, what is it?



Write the Linear Equation for Each Graph

y = MX + b What do we call
this format?

Y,

What do the graphs have in common?



y=%x+2

Graph Each Linear Equation

y=3x-1 y=-2x+3




How can you graph this equation?

X+3y=3




Convert Each Equation to Slope-Intercept Form:

-6x + 3y =-3 2X — 2y = -20

8x +4y =16 X-2y=6




Individual Practice: Let's Shoot Some Hoops!

Directions:

* Click on link in chat box. (http://www.math-play.com/slope-intercept-game.html)
* Choose 1 player

« Complete the player options.

» Answer the 10 questions about converting standard form to slope-intercept.

« Write your name and score in the table when finished.

Time challenge
’ ] Ch fenge Then click “Play”.
Two player game

Player options s

Slope-Intercept Game a |
by Doina Popovici 1 ’&&’ |

Type your name, choose a
skill level, and team color.

Created on Monda y 13 Octub 2008 Name.

Registered to Doina Pupuvica

Skill level: Rookie [ l

Kit colour: =

Shoe colour: [,‘



http://www.math-play.com/slope-intercept-game.html

REFLECTION Piease write on the board

Write things you learned




